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Instructions - 1. Check the question paper for fairness of printing. If here is any

tack of fairness, inform the Hall supervisor immediately.

2. Use Blue (or) Black ink to write and underline and pencil to
draw diagrams.
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Note D - 1. Answer all the questions
2 Choose the most suitable answer from the given four
alternatives and write the option code with the corresponding

answer
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Identify the incorrect pair

Sporopollenin

Exine of pollen grain

Tapetum - Nutritive tissue for developing microspores
Nucellus - Nutritive tissue for developing embryo

Obturator - Directs the pollen tube into micropyle
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‘In a test cross involving F, dihybrid files, more parents type offspring were
produced thant the recombination type offspring. This indicates

a) The two genes are located on two different chromosomes

b) Chromosomes failed to separate during meiosis

c) The two genes are linked and present on the same chromosome

d) Both of the characters are controlled by more than one gene.
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Which of the following is atavism character of Hieracium pilosella?
a) Sexual reproduction b) vegetative reproduction

c) Asexual reproduction d) formation of budding.

4. ulywev lgg uluwe lle_tar QuT@HSH sflwrer allenL_ullener sTgis.

ul quiev | uigwev Listll

A | @)\ wigwgsi et m @) enevr i) GurGarrGsrd)
GCrrGuwrGsTipL_ 6T HFHTEd STenTLILI(RaUg]
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&CrTGurGFTid Gemmeurs &remrLiLI(Boug) wrlerrGamif

<) A-i, BHiii, C-ii, D-iv
<y,) A-ii, B-iii, C-iv, D-i
@) A-ii, B-iii, C-i, D-iv
) A-iii, B-ii, C-i, D-iv

Match List | with List il and choose the correct answer.

List | List Il
A. | A pair of chromosomes extra with i) | Monosomy
diploid
ii) | One chromosome extra to the iii) | Tetrasomy
diploid
iv) | One chromosome loses from i) | Trisomy
diploid
iv) | Two individual chromosomes lose iv) | Double monosomy
from diploid




a) A-i, B-iii, C-ii, D-iv
b) A-ii, B-iii, C-iv, D-i
c) A-ii, B-iii, C-i, D-iv
d) A-iii, B-ii, C-i, D-iv
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Restriction enzymes are

a) Not always required in genetic engineering
b) Essential tools in genetic engineering

c) Nucleases that cleave DNA at specific sites.
d) both b and c.

6. COpev groaursgler @nevp wyw GErrGLIGsTd sraaflsama 12 @)Fs Gri ewi
GurGernGsmifl mL_tnfler &CrrCurGsrivseaflet sTesrentldamss.

<) 10 =) 11 @) 12 ) 13

In paddy haploid chromosome number is 12. If double monosomy happens, the
chromosome number will be

a) 10 b) 11 c) 12 d) 13
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Totipotency refers to

a) capacity to generate genetically identical plants

b) capacity to generate a whole plant from any plant cell/ explant
c) capacity to generate hybrid protoplast

d) recovery of healthy plants from diseased plants.
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Arrange the correct sequence of ecological hierarchy starting from lower to higher level.
a) Individual organisms—> population—> landscape-> ecosystem

b) Landscape-> Ecosystem-> Biome-> Biosphere

¢) community-> ecosystem—>landscape-> biome

d) population—>organisms-> Biome—>Landscape

9. @& sreurmisaflsr o_ullfl( LTSNS LUTSHIETES 2_gGeydmg)

<) PTC ) QFwphens allengaer ®)) Fepassarhsar ) PHB
It helps to conversation of plant biodiversity

a) PTC b) synthetic seeds c) social forestry d) PHB
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Which of the following is not a sedimentary cycle ?

a) Nitrogen cycle - b) Phosphorous cycle c) sulphur cycle

d) calcium cycle
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With respect to Eichhornia. Which of the following is correct?

Statement A: It drains off oxygen from water and is seen growing in standing water.

Statement B: It is an indigenous species of our country.

a) Statement A is correct and statement B is wrong.

b) Both the statement A and B are correct.

c) Statement A is wrong and statement B is correct.

d) Both the statement A and B are wrong.
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Pick out the odd pair
a) Mass selection

b) Pureline selection
¢) Clonal selection

d) Natural selection
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Morphological characters
Repeated Self pollination
Sexually propogated

Involves nature

13. G &Grraorr Hymrevvrg v sTeTLIZ B hgd &EDLSS ST STaurd

=) GG

@) yineBrrsriGud

9),) oBuBuUA

) er N Gewrd)



Tectona grandis is coming under family
a) Lamiaceae b) Fabaceae

c) Dipterocarpaceae d) Ebenaceae

14. LipsaTavTUMEDDIET 6TH) 21”1 FaFdhgsHaflen CHEmWTHE &HSLILIGHEDS?
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Which one of the following is reservoir of nutrients?

a) Catabolism b)Leaching

c) Mineralism d) Humification
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Who coined the term mutation breeding?

a) Muller and Borlaug

b) Hugo de vries and Normen

¢) Mullar and stadler

d) S. Gaud and stadler

ugas - Il /[ Part - i
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Answer any six from the following question. Question No. 24 is compulsory.

16. p@lips warbslemuuiler sar@d@aaflarn QuTsemear sTipgis.

Mention the names of the matured pollen grain wali layers.



17. Upassoliy stetmmred ereiresr?

What is back cross?

18. Lepeirer UL G560 2 _cirer GISCaHHD sumsaW GOILUG .
Mention the type of crossing over in the diagram given below.

A 3
WL 77 77 7777 7 77 7 777 7

19. svewupederm Gumresrm g}a’a’m&muﬂr’r%mm QUSTTLILIG M & 6TTGeuTeTssr QLT (L senerts
vweTUuBSGien T ?
What are the materials used to grow microorganisms like spirulina?
20. smeoymy up ) £ oyfleugy srerear? Cuogih G)gpeir LiwssT wirg)?
What do you mean Embryoids? Write its application.
21. safls@er aflang aversse sTermre srerss?
What is vivipary?
22. Hremsed sTaTMTEV sTeTsar?
What is aggregation?
23. CCS ereirug; stesran?
What is CCS?
24. Gureramis — Quen WM.

Define Bonsai.

ugg -/ Part - il
TGS Ymi allerTisensE aflew_wefldsayn. aflesrr sresr 336 sLLTwisTrs
aflen_weflss GaushrBib. 6x3=18
Answer any six from the following questions.

Question No. 33 is compulsory



25. Hmps ellwsssTaurnisefgID, wp@ellenss sraurnssflgid HamL GlLmid ST HSEF
Caridenas Gauniul L gl STTERIBISENT S DIs.

“Pollination in Gymnosperms is different from Angiosperms” — Give reasons.

26. GaumuBs5is. @BHGGD LIUSI, WepMEHSLILIL_ L BTLITYI.
Differentiate: Epistatic and Hypostatic genes

27. miaflepL_sfier Gpemeusenarts L1 wedl B,

List out the needs of capping.

28. Bt umsHulleit BeiTemi, HEDLBEMNET 6T(1LSBIS.

Write the advantages and disadvantages of Bt cotton.

29. @)revTL_Tib Blewe euaTiFlengLs Quir &6 THSTUTSSe0 HHSI QunlinGEns”?
QUMD DI LILIGHTHEMET TSI
From which plant sources are secondary metabolites derived? Mention their

uses.

30. aflensLiLbg) sTaTDTEV sTeiTes? Djeumhmlesr LILIGTHENET 6TDSHIS.
What is seed ball? Write its uses.

31. prewpasgiiy Bl uppl TGS (BT GOILGLIESIS.
Write brief note on reed-swamp stage and give some examples.

32. o _ullf semaTanfliiig upm! GUILGLIWSIS.

Give short note on biomonitoring.

33. saenTTigd STouy GUENTSHLD TATDTEV 6TGOTEOT?

What is terrarian?
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Answer all questions 5x5=25

34. 9)) 36bs ULSSIL 65T @GeleT Sjemwlienu afleurfl.
DUV
%) 2-auit g0y plog sraurtisafle gGsmud gbs UDSCSTHD LT Smen
ﬂ@g}&i
a) With a suitable diagram explain the structure of ovule.
Or

b) List out any five morphological adaptations of Halophytes.

35. @) usnisenilas wrugy Frips urrbufugeas sTHSSIS HTU_H L6t afleud.
V!
2) Qurgieirs wallsaflsr QFusuT@aer, G WML WSS DS THrTsGo
2 _6Tangl. @(H LOTSRTUTTS [h EHPVILDENTL_ 60 LITHIGTUI DG sTeueurny o Seyaumiis?
(a) Bring out the inheritance of chloroplast gene with an example.
Or
(b) Generally human activities are against to the ecosystem, where as you a

student how will you help to protect ecosystem?

36. o) wigwsHHer LULCum UMBHMET ETIPSHIS.
SV
) Gauarrenr Gougls Qur@Lsener LBHBlujb FeT aflsnareysst GBSSID TegsH!s.
(a) Write the types of ploidy.
Or
(b) Write about agro chemical and their effects.

37. (&) wrugm wrHPLLL L 2 _ewralleT BeaTenw WHDID FHLEDET 6T1HSHIS.
VG
(=) pafer allens urgIETIIY WWedDHDer aflensEs.



(a) Write the advantages and disadvantages of genetically modified foods.
Or

(b) Describe the modern methods of seed protection.

38. 3)) sreurd Hla suariliiler LweTUT (B BET 6TpSIS.
S|VRVS!
) o_air of L HH CHTLLSSDHHETET Bupems yifé Qaraedlenw sﬁl'_ﬂi.gysirar

srisfaseart LwsTLEHSS eTeuaTl saflriumis?

a) Write the applications of plant tissue culture.
Or

b) How will you prepare an organic pesticide for your home garden with the

vegetables available from your kitchen?
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